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1. Which of the next statements better expresses the scope of circular economy? 

 Circular economy is about recycling and recovering of materials from products at the end of their life 

 Circular economy is about minimization and responsible use of input resources, minimization of output 

waste and achievement of highest possible value from products during their usage phase by tight loops 

of resource management 

 Circular economy is about management of natural and technical ecosystems in closed loops 

 

2. Why system thinking is so important in implementing circular economy paradigm? 

 System thinking helps to analyse circular economy as a system 

 System thinking shows how various systems in the wider ecosystem are interrelated and approaches the 

design of a new system considering its implications on the other systems and considering the constrains 

and dynamics of the other systems 

 System thinking encourages engineers and decision markers to design and develop products from a life-

cycle perspective 

 

3. What types of innovations are mainly promoted by circular economy? 

 Circular economy promotes green design of products and related processes 

 Circular economy promotes any type of innovation, from product innovation to process innovation and 

ending with business model innovation 

 Circular economy promotes any kind of innovation that reduces waste and/or generates value added 

from waste in terms of social costs 

 

4. How stewardship principle can be more effective implemented? 

 Effective implementation of stewardship is by adopting national and international regulations that 

encourage circular economy 

 Effective implementation of stewardship is by extra-taxation of materials, energy, transportation, and 

under-taxation of workforce 

 Effective implementation of stewardship is by imposing buy-back rules to all producers 

5. Which is the key trigger for optimizing value in circular economy? 

 The key trigger is reduction of CO2 emissions 

 The key trigger is minimization of waste generation and maximization of waste reutilization 

 The key trigger is generation of new revenue streams from application of novel business models such as 

leasing, renting and servitization 

 

6. How collaboration between organizations is seen in circular economy? 

 Collaboration between organizations in circular economy is under the form of strategic alliances such as 

to better handling waste and transform it into new inputs for new applications 

 Collaboration between organizations in circular economy is a necessity in every stage of product life-

cycle such as to maximize value for each member in the value chain 

 Collaboration between organizations in circular economy is required to ensure suitability and innovation 

of materials 

 

7. Why is it necessary to be transparent when implement circular economy paradigm? 

 Transparency is necessary to ensure traceability of materials that companies use, where they come from 

and who made them 

 Transparency is necessary to demonstrate to any third party that you are aware of circular economy and 

implement it in a correct manner 

 Transparency is necessary to optimize value creation to the level of all stakeholders in the value chain of 

circular economy 
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8. How could we integrate natural capital in the economic model? 

 Natural capital can be integrated in the economic model of a business by taxation of services provided 

by natural capital in relation with the respective business 

 We cannot integrate natural capital in the economic model of a business 

 Natural capital can be integrated in the economic model of a business by taxation of consumers 

 

9. Which is the most critical aspect in optimizing resource yields? 

 The most critical aspect in optimizing resource yields is the adequate design of products for easy 

manufacturing, easy monitoring and maintenance, easy upgrading, easy disassembly 

 The most critical aspect in optimizing resource yields is the composition of materials incorporated in the 

product 

 The most critical aspect in optimizing resource yields is the business model of the original product 

manufacturer 

 

10. Who should monitor and assess negative externalities of every economic activity such as to ensure the 

social costs are minimized? Argue the selected variant. 

 Governmental agencies, because _______________________________________________________ 

 Companies themselves, because _______________________________________________________ 

 Third parties paid for social services, because it is the most effective business model to close the circle. 
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